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Punnett's Squares
These show the 2 alees o eachparen plan rossed with each
otherand the resuting 4 possibl offpring with T = fol, 1= shor.

TT = dominant tall 1 = recessive shor?, Tt = mixed hybrid
TT = dominant tall (genotype tail phenotype tail)
T = mixed hybrid (genotype hybrid, phenotype tall)
#1: recessive short (genotype short, phenatype short)

Using the Punnet's Squares below. name the of fpring of al possble parent combinations.
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Both parents are dominant fall. Both parents ane mixed hybrids. nome the 4
nome the 4 possible of fspring. possible offspring and the expected ratio.
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Oe parents i dominant tall.one is mixed Both parents are recessive short.
hybrid. nome the 4 possible of fspring. nome the 4 possibe of fspring.
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[IRformations] ™ fst part of this two part assignment is Punnett Square practics for

single tratt. With the gan and/or genotype information given, fl in the
‘missing (or probable) gnes or genotypes that result (or couid result) for children and/or
parents. Uppercase letters represent dominant genes and lower case letters are recessive
genes. If a child's genotype is & hybrid, place the uppercase letter first. For parents, the
dominant gene in & genotype, if present, s also always listed first.
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